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Paper - PGDLL-02
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 10 X2=20
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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Manufacturing

feefor

Body injury
ARG &ffey

Factory
DRG]

Social Justice

HTH I\\_riaﬁ g
Bonded Labour
TN HfHHeh
Worker

BIEEY

(vii) Women Worker

afeeT SifA®

(viii) Child Worker

T A

(ix) Annual Leave

(x)

arifes 3raenTar

Factory Act......7
HREHET =TT ?
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Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg IR 99)

fAder: fhgl IR WAl & IR SN 3T 3 IR Dl 3Ffehad

9)

200 greei ¥ AT HIfTT| e weT 10 3iehi T Bl

Explain various labour welfare theories.
ST AT & I Rigrdl &t aarear iR

Explain the concept of labour welfare in India.
ST AT BT HHAT Dl AR DI |

Explain different agencies working of labour welfare.

5 PV g BRI PRdTell AT TSRl & et SR |

Explain the ingredients of Industrial Sociology.

NI FHTSIITE & AR dcdl h IR HIR|

Explain effect of industrialization on workers.

fTepT IR ITEIRTARUT b YT Y IRAT DI |

Explain the working hours for the labour.

Syforepl b BRI P ETl Dl IRAT DI |

Explain characteristics of contract labour.

SIS #if¥es o Uil i T BT |

Explain Role of labour welfare officer in a factory.

U BRE H SH—HeAT0T ATIBRT DT GFhT Dl IRET DI |
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Section-C 2X20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
20 marks.

(Tvs - w)
(Sref ST ¥9d)

fAder : frgl Q) weAl & IR SV 31T 31U SR B 31frpas 500
grecl o gRIATT BT 81 UAb U9 20 3ihi & gl

10) Explain the characteristics of the mines Act, 1952.

G AR, 1952 & oI AR DI |
11) Explain the characteristics of the Factories Act, 1948.

HRGT 3ITH, 1948 & IO &HT ARAT IS |

12) Explain the characteristics of the Child Labour (Prohibition
and Regulation) Act 1986
qTeT Ao SR, 1986 & Ui &l AREAT DI |

13) Explain the Characteristics of the Bonded Labour System
(Abolition) Act, 1976
YT HfHh (ST ) I AT, 1976 & TOI T AR
HIfT |
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